sl U nbd
Jooooobn

5.1 00O

goboooobooboogbbobbooobbobooobbobooobbobooobbooon
goobooogbod

5.2 U0

5.2.1 0OOUOOOOOODOOO
0000000000000 00000 L(A)Dooooooooo

i=n

SN IL=0 (5.1)

=1

5.2.2 OUOOOOOODOOO

0000000000000000OQ00D0O0 R(QODODO (A)DODOOODDODODOOOoOO
000000 e(V)DOOOOOOO

i=ne i=ni

dYoei=Y RixI (5.2)
i=1 i=1

5.3 0O

0000000000000 100000000000000000000000200
0000000000300000000000000

00 Ryp O Ry 0 100(2)0900(2) O Ry, 0 Ry 0 IK(Q)D9K(Q) DO OO00O0O0O000O0
00 RyORpORy 000 R,O0000000000000000000000000000
000

000000000000000000000000000000000000
00000000000000003000000000
00000000000000000000000000000000000000000

49



5.3.1 0OOOUOOOOO

gooboogboobod

1.0 51000000 R, 0Rp,000000

2.00R,000R,0000000000

3.00 E0D00O0D00O0 (E0OP,0P,0Ps0P,0Ps0P,0P,000000)00000000
O000R,00000 V,(V)OOOR,O00000 Vp(V)OOOOOO(A)OOODOO

4 00Ry0R»,000000000000

gs1: 000010000

E 0000 I 000 K:DOOooOo
R :00 P .00 g od

5.3.2 UOOOUOOOOO
gooboogboobod

1.0 52000000 RyORyORy0000 R,0O00000

2. 00 Ry000Rp,000Ry000000R,0000000000

3.00E0P,0P,00000000R,00000 Vy(V)DOOR,O00000 Via(V)D
00R,y 00000 Vyu(V)OOO R, OO0D0D00 Vua(V)OOODDOO (A)DOOO0OO
00000000KOOODDOOO0O0O000

50



052000010000

E 0000 I 000 K:DOOooo
R :00 P .00 g od

gooboogboobod

1.0 52000000 RyORyORy0000 R, 000000

2.00Ry000Rp,000Ry000000R,0000000000

3.00E0P,0P,00000000R,00000 Vy(V)DOO R,O00000 Via(V)D
00R,y 00000 Vyu(V)OOO R,OO0D0D00 Vua(V)OOODDOO (A)OOOOOO
00000000KOOODDOOO0O0O000

5.3.3 UOUOz2000000000
20000bb200000obbbooobLbobboooobobobon

1.0 53000000 RyuOR,ORy0000 R, 000000
2.00Ry000Rp,000Ry000000R,0000000000
3.00E0P,0P,0000000000KOOOOOOOOO0O

4 00R,00000V,(V)OOOR,OODODO Vp(V)OOOOOOK(A)DDDOO0O

51



U s53: 0000200000000000

E:0000 I :000 K : 0000
R:00 P .00 0 00
5.4 0O

gobobooobbooobboooobbooobobooobbbooobbboon
gooobod

gobobbooobobobbooooobobbooobboboooon

54.1 OO0OOOOOOO

0000 Vg (V)0

Vo1 =Vi1+ Vo (5.3)
gogd

000000 EOQOOO0O Vg OO dsy(%) 0

Ve —E

dsi I

% 100 (5.4)
0ooo

52



5.4.1.1 0000000000
00 |00000000 000000000 (Q)
00 Ry, 0
00 Ry 0
00 DMM O 00O
00 |00 Ru(Q) | OO0 Rip(Q)
0 0
0 |ooooo|ooooo
IEREEEEEREEEEE

5.4.1.2 0O00O0OOOOO0OOODOOO

goob |bodg (gogn

gooo |obod

E(V) I(A) Vi (V) Via(V) Vsi1(V)
O O O O O
O O O O O

goob |bodg (gogn

gooo |obod

5.4.1.3 UO00OO0OOOOOODOOOOOOOO

5.4.2 OUOOOOOOO

0000 Ve (V)OODOOO Vpy(V) O

gooo

Vpr = Vi1 + Vig
Vpa = Vo1 + Vo

O00000EOOOOO VR OO0de, (% 0000000 EDOOOO Ve OO dpa(%) O

gooo

Ve, — E
dpy = _iﬂii___ x 100
Vo — E
dpy = —5227——-x 100

93

(5.7)

(5.8)



54

00 |00000000 000000000 () [DMMOOO (Q)
00 Ry O O
00 Ry O O
00 Roy O O
00 Roo O O
Jgdon0 |dddbo |gobog (odob jobodg oo (oodgo jgogdad
E(V) I(A) Rii(2) | Vu(V) | Rua(Q) | Via(V) | Vei(V) | dpi(%)
O O O O O O O O
O O O O O O O O
Jgdon0 |dddbo |gobog (odob jobodg oo (oodgo jgogdad
Jgdon0 |dddbo |gobog (odob jobodg oo (oodgo jgogdad
E(V) I(A) Ro1(2) | Var(V) | Raa(Q) | Vao(V) | Vpa(V) | dpa(%)
O O O O O O O O
O O O O O O O O
Jgdon0 |dddbo |gobog (odob jobodg oo (oodgo jgogdad
5.4.3 U000 200000000000O
0000 Vps(V)O
Vps = Vi1 + Vig (5.9)
gdoo
000000 EDDOOD Ve OO ds(%) 0
Voo —
dpg = —22 100 (5.10)
gdoo
00 |00000000 000000000 () [DMMOOO (Q)
00 Ry O O
00 Ry O O
00 Roy O O
00 Roo O O



goob |bodg (oooo (obobob joboo (boob (oobb | bbod

E(V) I(A) Ri1(Q2) | Viu(V) | Ru2() | Vi(V) | Vps(V) | dps(%)
O O O O O O O O
O O O O O O O O

goob |bodg (oooo (obobob joboo (boob (oobb | bbod

5.5 0O

1. 0000000000000 0000O000bo4A)(DooDoOooOoOOoODULOOOOOO
0000300000)0000000000000O0O0OOO

2000000000000 AUTO0ODO0OOO0O0ODOODOODODOOOORENGE HOLD O
gobob4000000000

5.6 0L

0510000000 P000 P,O0000V,000P,000 P,O0000 Vo, OOODO
o000 VvV, 000 Vy;OOOooboobooboboo

5.7 UUOULDOONO

5.71 0UUUOOOOOO

05100 5200005300 0000 EO00DOOOD26000 27.1.2-BO0000O0O0O0O
gooboooooo

95






